
Red Swastika School 
Primary 5 Science 2023 

Class Test 1 

Name: (-----------
Parent's Signature: 

40 

-------

Date: CI ass: Pr. 5 ________ _ 
-----------

Total time for Section A and B: 50 minutes 

Section A: Multiple-Choice Questions (14 x 2 = 28 marks} 
Choose the most suitable answer and shade its number in the OAS provided. 

1. Which of the following correctly shows the functions of a stem?

A: make food for the plant 
B: absorb water and mineral salts 
C: support the leaves to receive more sunlight 
D: transport food and water to other parts of the plant 

(1) A and B
(2) Band C
(3) C and D
(4)Aand D

2. The diagram below shows the plant transport system. The arrows
represent substances being transported.
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Which of the following correctly represents the arrows and parts Y and Z? 
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Q 1 Q2 Q3 Q4 Q5 Q6 Q7 Q8 Q9 Q10 

3 1 4 3 1 2 2 1 4 4 

Q11 Q12 Q13 Q14 

1 3 1 2 

Q15) a)Y: Lungs

Z: Heart

b)D, A, C, B

c)B. Her heart rate increased. Her heart needs to pump blood faster

to transport more oxygen and digested food to all parts of the body 

so that she can respire more to provide her body with energy 

needed when exercising. 

Q16) a) The leaves make food for the plant.

b) No water could be transported to leaf w when the water-

carrying tubes at X was removed, hence leaf W cannot make

food. No food from the other leaves could be transported to

leaf W as the food-carrying tube was removed too.

Q17) a) The chloroplast, contains chlorophyll, that traps light to make

food for the P during photosynthesis.

b) Cell A has chloroplasts but Cell B does not.

c) C
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